O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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@O 2x+2=3(x-13)
® 2x+3=3x+2

® 2x=3x+1
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@ 2(x+2)=3x-3

@ 2x+2=3x-3
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@ 0.08x + 0.03(480 — x) = 0.07 x 480

@ 0.08x + 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) + 0.03x = 0.07 x 480

B 008 +x+003+465-x=7



6.

A 2] o]9] Lol 114, o}z 2] Lro]= 38 Afo|th
Lol 7} 2] g o] o] vl o] 2u[7} Bl= A2 E i 1717
O 12 9% ® 13 9% ® 14 9%
@ 15 A5 ® 16 A

. oh7] 9]



200 LA 24 x 7iet 500 Y] 53 8 E-& ARl 6000 Y- Z|ESH
At AxrEE=o] Jg uf, BEH O] 45 ool

B e A



